o gg@o sdmaeol doggmol 35Lgbols bodgdo (dgbFm®dgdamol)

305JBogaeo 53m356980

L ®mdgeos dgBo o Modpgbom: sadsmmds odols, @M Lomsdsdm jodsmaols g@mx g aoam-
@gdobol dmgs 6 Jyems my mOXgO 2oam@gdolsl xoddo dmgs 6 Jyans? 2 Jams)
5dmblibs. 306g3ge dgdmbgggedo Q = {1,2,3,4,5,6}, bpmdogrgds dmgs 6 Jyms — A = {6} o
Jolo  semdsmmdos P(A) = 1/6. dgmeg Fgdmbgggedo  go Q= {(1,1);(1,2);..;(6,6)}, Q| = 36;
bomdogngds xsddo dmgs 6 Jymws — B =1{(1,5);(51);(2,4);(42);(3,3)} s dobo odosmnmds
0d69d> P(B) = 5/36. dgliodsdobsw, P(A) =1/6 =6/36 >5/36 = P(B) s P(4) — P(B) = 1/36.

2. 3b0obmTo waol Lodo Lowmsdsdm dspos A s B Hodol, dmdggdoi LOYgmosw ghmbso®ow
2odm0g @A gds. 5dolmobsgg, B Godol dogops m@o @gognos. A Bodol dspowoby dmagdol sends-
0mds >sGol 13, bognem B Godol dspoeby — /4. 5) 03mggm dgdmbgggom s@bgye dsg00sby
Jma g0l sandsmmds. (2 Jnas); &) mdggbh dgdmbgggom so@hogm dspos s dJmoggm. @Gl go@ols
SaEndommds 0dobs, GMI 0dzgb sodhogmn A dspqops. (2 Jyms) by 4 Jyeoos

33mblbs. dgdmgommen bpmdoggdgdo: A (dglodsdolbow, B) — dgdmbgggom dgodhs A (dgbe-
d5dolow, B) dopos ©s W — o396 moggm. 300mdols msbsbdsw, hggb ggodgl: P(A) = 1/3,
P(B) =2/3, P(W|A) =1/3p> P(W|B) =1/4. 253mbomgmgamos semdommdgdo: &) P(W)ws o)
P(A|W). L@ geo sgodommdols gm@ddygeol msobsbdsw

1+2
3 3

W =

P(W) = P(A)P(W|A) + P(B)P(W|B) =

3509Lols Go@Igaol mobsbds@ 3o ago]gl:
P(A)P(W|A) _ 1/9 _ 2

P(AIW) = = = -
Aw) P(W) 5/18 5
3. dmgdgeos wolig®gdgao & dgdmbggzomo Lowowol gobsfomgdol 3obmbo
& 2 -1 0 3 5
) 0.2 0.15 0.21 0.14 03

03mg9m:  8) yobofoggdols gybios; 6) JomgdsBogygdo  emeobo; @) ©oldg@los; )
dgoobs; g) dmws; g) 033-3356@0a0; b)) bgos 039 3@odogymo FgO@ogo; ) sbodgd@ools
3099030963 0;  0)  9Jbgbol  3mgno3ogbdo;  3) max (3,4)-ol  gobsfoamgdol  3obmbo; @)
E{max(3¢,4)}; ) P{¢ € (-13]}

ob gobofogmgdol g9bjigoom gobsfoggdol 3obmbol 3mgbs o @sbs@hgbo ogogy!

ob @m@0 sdmYg0Egdgeo § s N Yg8mnbgggomo Lowowols gobsfoggdol jobmbgdols
dobgrgom h(&,1m)-b gobsfoggdols 3obmbol 3mgbs s sbs@bgbo ogogy!

5dmblibs. o)
0, x< -2
0.2, —-2<x<-1;
0.35, —-1<x<0;
Ff(x)_zpk_ 0.56, 0<x<3;
xisx Lo.7, 3<x<5;
1 x = 5.

3) EE§=—2-0.2 +(=1)-0.15 + +5- 0.3;
a) DE=(-2)2-0.2+ (-1)%-0.15 + +52-0.3 — (E§)?%;



©) JoO3bbosb sgofymm s IJmgdgdbmm Jo®ggero 360dgbgamds, Gmdgnols
homgaom dgbododolo sadommdgdols xsdo dgBo o6 Gmero odbgds 0.5-0b, a394bg9ds:
M, = 0;

9) 360dgbgermds, @mIaol Fgbodsdolo sgndsmmds goowglios, agsdal: M, = 5;

3) 3o03bbosb wogofymm s dJmgdgdbmm Jo@ggano 360dgbgermds, @mIaols
homgaom dgbododolo sedosmmdgdols xsdo dgBo ob Gmero odbgds 0.33-0l, 339]6gds:
X033 = —1;

b) dodxgbowseb ogofymm s dJmgdgdbmm 3omggero 360dgbgermds, MmIanols
homgaom dgbododolo sadosmmdgdols xsdo dgBo ob Fmero odbgds 0.39-0l, g39]69ds:

x039 = 3,
(-2-E§)3-02+(-1- EE)3015+ +(5—E%)3-0.3
n) a= 3
(/og)’
(—2-E&)*0.2+(-1-E§)*0.15++(5-E§)*0.3
0 e= 1 - 3;
{yp&}
3
max(3¢§,4) 4 4 4 9 15
P 0.2 0.15 021 0.14 03
20359M005bmm Gemaro 360dgbgammdgdo. Loadmenmmo agsgl:
max(3¢§,4) 4 9 15
P 0.56 0.14 0.3

@) E{max(3§,4)}=4-0.56 +9-0.14 +15-0.3;
3 P{¢e€(—-1,3]}=0.21+0.14 = 0.35.

3'. 3mEgdgemos 9Vyg96d0 Hosolb & dgdmbggzomo Lowowol asbsfomgdols gybios:

0, x<0;
F¢(x) = {csin2x, 0<x<m/6;
1, x =>mn/6.
03Mg9m: ) € 3M98030gbR0; 8) dgosbs; 3) 0.2-3356@G0a0; ©) bges 04 3HoFogymo §g®OEogo;
9 P{Ee[-1,m/8)}; g P{I¢| <m/12}; B) 3oboFoangdols Lodzgmoggs ) dmws. Lgeo 4 Jogeos

53mblbs. o) 5dmgblbom gobBmmgds Fe(m/6) =1 (g1 >G0l Fr(x) 896]J3ool 9fygadmos
/6 (9oBoado). osfgosb agsdsl:
csing =1, gc =1, Losowsbsg € = 2/V3;
3) 5dgbliboo gob@mmagds Fg(x) = 0.5. y3o3L:
\/%sian =0.5, sin2x = 0.25V3, Loowsbsg M, = iarcsin(O.ZS\@);
) >dmgblbom aob@megds Fe(x) = 0.2. ygo3b:
%sian =0.2, sin2x = 0.1V3, Loopsbsg xgz = %arcsin(O. 1/3);
©) >dmgblboo gob@mmgds Fe(x) =1 — 0.4. y35J3b:

2 sin2x=0.6, sin2x = 0. 3\/§ bsogabo x4 = 2 arcsin(0.3v3);
2

\/§
{])P{EE[—l,%)}zFf(g) F(-1)=2% Sln——O—T
R)) P{lfl <%}= F;(%)—F;(—%) —\/—glsmg—o :\/ig;

x
\/_— .
2= 273

0, x<O0;
) fe(x) = Fy(x) = {2, 0 < x </6;



4Ci)/s§(0) = % , ddo@md M, = 0.

®) 3oboowsb M™¥Yf(x) =

4. dmgdygeos € o n Igdmbggzomo Lowowggdols ghmmdaogo gobsfomgdols 3obmbo:
ne [ 2 [ 1 [3
-3 1015 | ? |01
5 02 |01 (005
S) aodmmgomgm  3m@gasizool  gmga0i30gb@o. (3 Jyms); &) dgoeaobgm max (2€,1)-b aobsfo-
@bl gobmbo. (1 Jgms); @) godmmgomgmn & -l 3o@mdomo asbsfoggdol obmbo 3oMmdsTo,
@md n=-3. (1 Jyms). b 5 Jyms
33mblbs. &) 39b6JBo I LeOyagdygame hoomgengds, my dgoldygagdn dgdwgy bodo-

xgoU:

?2=1-(0.15+ 01+ 02 + 0.1 + 0.05) = 04
& -2 1 3 n -3 5
P 0.35 0.5 0.15 P 0.65 035
E§=-2-0.35+1-0.5+3-0.15;En =(—3)-0.65 + 5-0.35;
D& =(-2)2-0.35+12-0.5+3%2-0.15 — (E§)?%;, Dn = (-3)%-0.65+5%-0.35 — (En)?;
E(n)=(-2)-(-3)-0.154+1-(-3)-0.4+-+3-5-0.05;
p(sm < HE2=cEn
d) 396JB0 gLy gdygemme hsomgmgds, my s g m:

max(2§,1n) max(2-(—2),-3) | max(2-1,-3) e max(2-3,5)
max(2¢,1) -3 2 e 6
P 0.15 04 e 0.05

d) 396JHo Ldgmgdgmsn boomgagsds, oy ©offgdm:

§ -2 1 3
P(&ln = —-3) 0.15/0.65 0.4/0.65 0.1/0.65

39603g6s: 5@ mombmggds sSOGEIHM0 Loool dmemdrpg gsdmmgms (bago®m Bm@Iegddo
Yg0@56gm Lsgodm Go3bggdo).

0gmd0gmo bsgonbgdo
(mommgamo ngm@ogeo gonbgs gobpgds 1 Jgmon, by 15 Jyas)

L n gangdgb@osbo Lod®sgammol womspagdye m (m < n) gargdgbBosb Jgglod@sgamgms Gomg-
beds Geagnos

2. sandommds 0dols, @M dORYgwo B gopag®opsb dgdmbgggom dg@hggao FgdGoo s@dmb-
bogds dob A € B bofoendo Fmeos

3. 6gdolidogmo m@o A s B bpmdoggdols Lbgomdol sgodosmmds Geanos

4. ©odm9y300gd9ee A 5 B bpmdoggdoms 0900056900l sandsmmdbs oo

5. oy Ay Ay, .., Ay bpmdogogdoms LEOygmo LolbEgdss, d5dob LOYPmo sadsmmdol gm@Iygaols
0obobdse bgdolidogmo B bpmdoamgdol sgpdsmmds Foeos

6. n ©sIMYZogdge (5T A bpmdoggbol k-xg® Jmbogbol sepdsmmds Bmenos



7. 9Vy3980 ¢ gdmbggzomo Lowpowols p-3gobGoewo  gfmegds obgm x  dbodgbgammdsls,
Amdgolmgolsc

8. 9y olgMgdymo & dgdmbgggomo Lowowol gobosfoagdols gobmbos pr = P{& = xi}, 95T0b
P{§ €(a,b)} =

9. wolig®ydamo & dgdmbgggomo bowowols (pr = P{§ =xx}, k =1,2,...,n) sLodgd®ools gmgao-
(39630 2odmomgergds

10. 3gobmbols dgdmbgggomo Lowowg 3o@5dgB@om A ©gdyamdl k-l Gmer  dbodgbgermdsls
SEOSMMS0m

11. EHi(N,M,n) =

12, 9Jb3mbgbEosydo  gobsfoagdols  Lodggmogg 3o®sdgd@om A dmoigds  msbsgs@omdom
fexpy (%) =

13. 6g30Ldogmo & s n dgdmbgggzomo Lowowggdolomgols D(2& —3n) =

14. dgdmbggzomo Lowowgls goohbos LEoyogb@ol gobsfoggds mogolygramgdol bodolbon n oy
ol {o@3mopaobgds Gmayma

15. o9 & =N(a0%),i=12,..,n ©309;500909e0 bo@Isaa@om gobofomadagmo Jgdmbgggom
Loowggdos. Mmam@ss asbsfoggdyemo domo Lsdysm s@omdg@ogygero, Gm@3S o? 936000

Bg609g6>:  bMoaTo  LFemdo 3sbgbol golfgmog JsdEbgbs Ibosdgh AsFgmgem  gbssdsdobo
Jombgol bmdg@o.

Ne Ne Ne
3| P(A)—P(AB) 1 —(x-a)? /52 15 i—a _
\/ﬁd’e Sa/\/ﬁzt(n’_l)
12 {le_’b‘, x=>0; | 9 Yio1(x — EE)*py Yh=1(xx — E&)*py 3
0, x<0 - 5 3 - — 4 -
{\/Zk=1(xk — E$) pk} {\/Zk=1(xk — E%) pk}
n 8 z M M_N-n
2 h(x1)pxk WS Pr A
k=1 '
11 nM/N 14 N(0,1)/\/x2(m)/n, 187, bopeg &= N(0,1),i=
Boos XZ (n) > N(0,1) 1,2,..,n ©sdmygjzoegdmgdos
5309 300 gd gen0s
§-a_ > " P(A)P(B|A, 10 Ao
GNE_N(OJ) _ PAP(BIA) el k=012,
P(A|B) F(x)=1-p 4| P(AuB) = P(A) + P(B) — P(A)P(B)
= P(A)/P(AB)
F:(b) — F¢(a) P(AUuB)=P(A)+P(B) | 13 4D§ — 12cov(é,1) + 9Dy
7 Fe(x)=p 4D§ + 9Dn P(A;)P(B|A,) + P(A2)P(B|Ay)
1/A% P(A) — P(B) S(B)/S(A)
np(1 —p) N! P{E<x}>p, PE=x}=>1-p
S(A)/S(B) n!/m!(n —m)! m!/n!
1| nl/(n—-m)! 2D& — 3Dn 6 CK{P(A)}{1 — P(A)}**

89603365 0J396mgoL Lo0bEg@glm yggers 068m@3530s ©s dsbogns obogngmn Lsod by:
http://e-learning.tsu.ge — Lobfogme 39@lLgdol hsdmbomgsmo — dsmgdsGogs —
9209J@®0b90 d0dmommgygds = 93mbmdolGgdolomgols (2013)! - semdsmmdol mgm@os ©s
350935303900 LESGLG0ZS gzmbmdoL@gdolsmgols (2013) — - --
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